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QUESTION 1

You are implementing the Enterprise Voice solution. You create the objects described as shown in the following table. 

You need to recommend which action must be performed to meet the technical requirements for Enterprise Voice
routing. What should you add? 

A. PSTN1 to VP1 

B. PSTN1 to VP2 

C. PSTN2 to VP1 

D. PSTN2 to VP2 

Correct Answer: C 

 

 

QUESTION 2

Users in Copenhagen report frequent audio call issues. 

You need to resolve the issues. 

Which three actions should you perform? Each correct answer presents part of the solution. 

A. Create a new region link between the MPLS region and the Berlin region. 

B. Create and configure a new network region and assign only Copenhagen to this region. 

C. Create an inter-site policy which includes Copenhagen and Moscow and specify the existing BandwidthPolicyProfile
“LOW”. 

D. Create an inter-site policy which includes Copenhagen and Berlin and apply the existing BandwidthPolicyProfile



“LOW”. 

E. Create and configure a new network region and assign Berlin and Copenhagen to this region. 

Correct Answer: CDE 

 

 

QUESTION 3

You have a Skype for Business Server 2015 infrastructure. 

You have one Enterprise Edition pool named pool1.contoso.com. 

Enterprise Voice is enabled for all users. 

You have a public switched telephone network (PSTN) gateway named mg1.contoso.com that does not support secure
signaling. The Encryption support level of the global trunk configuration is set to Not Supported. 

You add a second PSTN gateway named mg2.contoso.com. The SIP General parameters for mg2.contoso.com are
configured as shown in the following table. 

On mg2.contoso.com, you generate and install a certificate from an internal certification authority (CA). 

You need to ensure that Skype for Business Server 2015 can use both PSTN gateways to make calls on the PSTN. 

Which four actions should you perform in sequence? To answer, move the appropriate actions from the list of actions to
the answer area and arrange them in the correct order. 

Select and Place: 



Correct Answer:  

 

QUESTION 4

You collect the following call statistics for users in Los Angeles: 

Peak call concurrency is 25 percent. 

Fifty percent of all placed calls are routed to the public switched telephone network (PSTN) 

Thirty percent of all placed calls are internal calls to users in the other offices. 

Twenty percent of all placed calls are conference calls. 

The average bandwidth for peer-to-peer calls is 65 kilobits per second (Kbps). 

The average bandwidth used for conference calls is 100 Kbps. 

You need to allocate the minimum amount of bandwidth required on the wide area network (WAN) link for the planned



implementation of the voice gateway in the Los Angeles office. 

All calls to the PSTN will be routed through the local voice gateway in the Los Angeles office. 

How much bandwidth in megabits per second (Mbps) should you allocate? 

A. 7.20 Mbps 

B. 3.95 Mbps 

C. 10.00 Mbps 

D. 2.25 Mbps 

Correct Answer: B 

 

 

QUESTION 5

You have a Skype for Business Server 2015 infrastructure that contains two offices. The offices are located in
Amsterdam and Seattle. The offices have the phone numbers ranges shown in the following table: 

You plan to deploy Enterprise Voice. 

You also plan to use a global dial plan that will use three-digit dialing. 

You need to create the normalization rules for the planned deployment. 

Which match patterns should you use? To answer, drag the appropriate match patterns to the correct translation
patterns on the answer area. Each match pattern may be used once, more than once, or not at all. Additionally, you may
need to 

drag the split bar or scroll to view content. 

Select and Place: 



Correct Answer: 

 

 

QUESTION 6

You deploy Skype for Business for a company that has three office locations. The locations and total number of users
per location are shown below: 



You must deploy Enterprise Voice. You have the following requirements: 

All New York and Boston users that have IP PBX phones must be able to call each other without using the public
switched telephone network (PSTN). 

Audio and video conferencing quality must be improved between the New York and Chicago offices. 

You need to ensure that Enterprise Voice is deployed correctly. 

How many of each component or server should you deploy? To answer, select the appropriate number for each
component or server in the answer area. 

Hot Area:

Correct Answer: 



 

 

QUESTION 7

You need replace the existing automatic call distribution (ACD) helpdesk with Skype for Business Server 2015 solution. 

Which three actions should you perform in sequence to recreate the ACD in Skype for Business Server 2015? To
answer, move the appropriate actions from the list of actions to the answer area and arrange them in the correct order. 

Select and Place: 



Correct Answer: 

References: https://docs.microsoft.com/en-us/skypeforbusiness/plan-your-deployment/enterprise-voice-
solution/response-group https://docs.microsoft.com/en-us/skypeforbusiness/deploy/deploy-enterprise-voice/deployment-
process-for-response-group 

 

QUESTION 8

You need to configure the unassigned numbers range to support the planned changes. 

Which four actions should you perform? To answer, move the four appropriate actions from the list of actions to the
answer area and arrange them in the correct order. 

Select and Place: 



Correct Answer: 



 

 

QUESTION 9

You need to configure the Enterprise Voice deployment for the Hong Kong site. 

How should you configure the Hong Kong network link? To answer, select the appropriate codec and bandwidth in
kilobits per second (Kbps) from the list in the answer area. 

Hot Area: 



Correct Answer:  

 

QUESTION 10

You are troubleshooting audio call issues for users in Copenhagen. 

You need to resolve the issues. 

Which three actions should you perform? Each correct answer presents part of the solution. 



A. Create and configure a new network region and assign Copenhagen to this region. 

B. Create an inter-site policy which includes Copenhagen and Berlin and apply the existing BandwidthPolicyProfile
"LOW". 

C. Create an inter-site policy which includes Copenhagen and Moscow and specify the existing BandwidthPolicyProfile
"LOW". 

D. Add Copenhagen to the Berlin network region. 

E. Create and configure a new network region and assign Berlin and Copenhagen to this region. 

Correct Answer: BCE 

 

 

QUESTION 11

You need to solve the Enterprise Voice issue experienced by Sydney users. Which normalization rule should you use
for mobile numbers? 

A. ^0[45]\((d8))$ 

B. ^0([45]\d{6})$ 

C. ^0[45]\d({8})$ 

D. ^0([45]\d{8})$ 

Correct Answer: D 

 

 

QUESTION 12

You need to implement the Mediation services solution. What should you do? 

A. Use a collocated Mediation server on the existing Front End Servers in Melbourne and Singapore. 

B. Deploy a new stand-alone Mediation server pool in Melbourne and Singapore. 

C. Deploy a dedicated Mediation server pool at each site. 

D. Deploy a Survivable Branch appliance at each site. 

Correct Answer: A 
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